2KCIO3(s) » 2KCI(s) + 305(9)
25¢ Xd

1. How many grams of O is produced if 2.50 g of KCIO3 is completely decomposed by heating?

XgO, = 25gKCIO; x _(1melKElOs) x_ (3melO,) x (3290, = 0.989g0;
(122.5 gKCIO3) (2 melkElo;) (1 melO,)

2. How many grams of KCl is produced if 2.50 g of KCIO3 is decomposed?

2KCIO3(s) =2 2KCI(s) + 302(9)
259 Xd

x g KCl = 2.5 gKCIO; x _(1 melkllO;) x (2 melkKClO;) x (74.5 g KCI) = 1.52 g KCI
(122.5 g KCIO;) (2 mekkcio,) (1 melKC))

3. How many moles of KCIO3 is used to produce 10 moles of O,?

2KCIO3(s) = 2KCI(s) + 302(9)
X mol 10 mol

x mol KCIO3; = 10 melO; x (2 mol KCIO3) = 6.7 mol KCIO3
(3 melOy,)




4. How many moles of KCl is produced if 15 g of KCIO3 is used?

2KCIO3(s) = 2KCI(s) + 302(g)
159 X mol

xml KCl = 15 gK€ElO3 X (1 melkclOs) x _(2molKCl) = 0.12 mol KCI
(122.5 gKCIO;) (2 melkElO,)

5. How many liters of O, is produced if 5 moles of KCIO; is used?

2KCIO3(s) - 2KCI(s) + 30,(9)
5 mol X L

XL02 = Smel—KGJngx (3=HQ=9=|=@=%) X(224LOZ)_ = 168L02
(122.5 gKGCIOs) (1 mel0,)

6. How many liters of O2 is produced if 10 g of KCIO3 s used?

2KCIO3(s) = 2KCI(s) + 302(g)
10 g X L

X L 02 = 10 g—KGl—@g, X (1 %&@I@Q_ X (3 m—@-l—@g) X (224 L OZ)_ = 2.74 L Oz
(122.5 KCIO;) (2 melKCIO;) (1 meko.)







